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- “Chappan Ki ‘Pa};a’di’éis located in which part
of Rajasthan?

-~

1.

» r
- LT r

“BUE Pl UETSI” ORI @ B W W A
Jraferg 87

(1) Dungarpur - @) Udaipur (1) %q(g(-—qfﬁq@;l 2) BEAPR
Banswara
(3) Barmer (4) Kota-Jhalawar @ TR @ e i
- Match List-f with List-II and select the 2= F-L® Y19 gt @R wr
correct answer using code given below — TN B A A 37 e 9 Pifre —
List -1 o -1
(A) Sandy Arid Plain (A) IF e Hg™
(B) Luni Basin (B) <1 IR
(C) Shekhawati Region (C) Tl uawr
(D) Ghaggar Plain (D) TR BT Far
List - IT o -1
Ei)) gali (i) e
ii) Degana .
(iii) Pachpadra- [11) ST .
(iv) Bap ) (T“J R
(iv) €
(1) (A) - (@iv), (B) - (iid), (C) - (i), (D) - (i) (1 (A) - Gv), (B) - (i), (C) - (i), (D) - (i)
(@) (A) - (ii), B) - (i), (C) — (iv), (D)~ (ii) (2) (A) - (i), B) - (@), (C) - (@v), (D) - (ii)
B) (A)- (i), B)~ @), (C) - (i), (D) - () () (A)- (i), (B) - (iv), (C) ~ (i), (D) - (i)
@) (A) -~ (i), B) - (i), (O) - (iii), (D) - (iv) @ (A) - (ii), (B) - (i), (C) - (iii), (D) — (iv)
- Which (Origin Place - River) is not a correct 3. GBI & (S5 wIA — 7d) gAlem wEl £?
match?
(1) Diwer - Kothari (1) R — »ierd
(2} Khamnor - Luni (2 TR — o
(3} Bijral - Khari (3) e — &Emy
{49) Bichameda - Som (4) dromer — |H
- Asper Koppen's climate classification, which 4 PN B EEELE THpoT B IJER = i 9
among the following are correctly matched? B | TE Al 7 '
(A) Aw - JThalawar (A) Aw - Slieliars
(B) Cwg -~ Banswara (B) Cwg - Ti9arST
(C) Bshw - Alwar (C) Bshw - 37eleR
(P) Bwhw - Bikaner (D) Bwhw - §i&FR
(1) (B) and (C) () (A), (C)and (D) (1) () (C) ) (4), (C) Td (D)
®)-(B),(C)and (D) 4@ (A)and (D) @) (B), (C) T (D) @) (4)Td (D)
- Which district has the maximum Reserve 5 <o 4 31 fRewav 2020 & WK waifte
Forest in Rajasthan as on 31st Dec 20207 ARMEE T e fore ® 87
(1) Udaipur (2) Chittorgarh (1) SeaR (2 RrisTe
(3) Alwar (4) Sawai Madhopur (3) areraw (4) waT$ MR
[01] - |Z| Page 2 of 24




6.

10.

1.

~

Match List - [ with List -II and select the
answer from the code given below -

List-1

(Mineral)
(A) Iron Ore
(B) Copper -
(C) Lead and Zinc
(D) Tungston

List - 11
(Area)

(i) Degana-Bhakri
(ii) Chauth Ka Barwara
(iiif) Kho-Dariba
(iv) Dabla Singhana
(1) A-(i),B- (i), C- (iii), D - (iv)
(2} A-(ii), B- (i), C- (iv), D - (iii)
(3} A-(iii), B- (ii), C- (i), D - (iv)
{(4) A-(iv), B-(iii), C- (i), D - (i)
As per livestock census 2019, which among
the following has the largest population?
(1) Goat (2) Buffalo
(3) Sheep (4) Camel

Kesar Bagh Wildlife Sanctuary is situated in
which district of Rajasthan?

(1) Baran (2) Udaipur

(3) Dholpur (4) Nagaur

In which year, the Government of Rajasthan
has framed ‘Rajasthan State Environment

Policy’?
(1 1996 (2) 2010
(3) 2002 (4) 2006

Which among the following drought years in
Rajasthan affected maximum population?

(1) 2009-10 (2} 2004-05

(3) 2013-14 (4) 1991-92

In Rajasthan Desert Development Program
started in the year -

(1) 1971-72 (2) 1966-67

(3 1977-78 (4) 1981-82

6.

10.

1.

T - 1P - 1S g iR e

fag 7 B § W W FT 9FT B —
T -1
(afere)

() 5T ST

(B) faT

(C) T 9 Sl

(D) ST
g - 10
&)

(i) ST IS

(if) =ter &7 SRaTST

(iii) @r—gdar

(iv) Sreer e

(1) A- (i), B- (i), C - (iif), D - {iv)

(2 A-(ii), B~ (i), C- (iv), D - (iii)

(3) A- (iii), B - (ii), C - (i), D - (iv)

@ A-(iv), B - (iii), C - (if), D - (i)

Y] SRTOMT 2019 & AR, Frafeiea 4 4@

1

-
_"1.1‘

e s wEw iR 87

(1) g3 2 9

(3) I3 4 S

BN IRT TG AR ISR & B |
forer # erafeny 27

(1) It (2) SEIR

(3) sherge @ iR

ORI R 7 fhw 9§ e e
TR R (RIS W Yare diferd)’
TAIR?

(1) 1996 (2) 2010

(3) 2002 (4) 2006

frefafeg ol 4 4 g af & o A
ISR 6 HaAd T el T 832

(1) 2009-10 (@) 2004-05

(3) 2013-14 (4) 1991-92

RN 4 7% [ SRIBH IR gl —

(2) 9§ 1966-67
(4) 9§ 1981-82

(1) gf 1971-72
(3) a9 1977-78
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12. Among the following which are not the inter-

13.

14.

state irrigation projects of Rajasthan?

{A) Jakham Project .

(B) Bhakra - Nangal Project

(C) Jawai Project f

(D) Beas Project

Select the answer using codes given below -
(1} AandB (2) Band C

(3) CandD 4 AandC

The district having highest percentage of
decadal growth rate of population of
Rajasthan during 2001-2011 is -
(1) Jaisalmer (2) Barmer
() Jodhpur
Match list - [ with list - II and choose the
correct answer from the coede given below -

List~1

(Energy)
(A) Natural Gas
(B) Wind
{C) Solar Energy
(D} Atomic Energy

List-1I

(Site)
(i) Bada Bagh
(ii) Bheru Khera
(iii) Ramgarh
(iv) Rawatbhata

(4) Banswara

(1) A-(ii), B - (iii), C - (i), D - (iv)

(2) A- (i), B- (i), C - (iii), D - (iv)

(3) A-(iii), B- (i), C- (i), D - (iv)

@) A- (i), B (iii), C- (ii), D - (iv)

Which is the incorrect pair (District/Site)?
(1) Udaipur - Gomteshwar

(2) Jaisalnier - Fossil Park

(3) Hanumangarh - Badopal

(4) Alwar - Harsora -

2. frafoiReg 4 ¥ o9 o @

3

13.

14.

15.

IR~ Rieng aReeEn s 27
(A) WIrEH aREreT
(B) WEST—=1i"Tel GRRANST
(C) vTa1E IR
. (D) =<1 uRaEe
e SR B =G i 37 e § Bifw —
(1) ASRB (2) BaRC
(3 Cc3RD ® AdRC
oI BT forer et 2001 2011 7
SIDHE SEE] gy R gioea waite & —
(1) SR (2) TR
(3) WEgR @) SiwareT
gEi - 191 gl - 11 H gAfera SIvTg e -
AT v g | wE SR gy —
Qﬁ -1
(S
(A) mrpfires
(B) 9as
(C) ¥R Bt
(D) WAy (Eirorfaes) st
A - 11
() A
(i) ST 9
(i) ¥ ST
(1ii) T
(iv) Jraaurer

(1) A- (ii); B - (iif), C - (i), D - (iv)

(2) A- (i), B-(if), C- (iii), D - (iv)

) A- (i), B- (ii), C- (i), D - (iv)

@ A-(i),B- (i), G- (i), D-({iv) -
DI AT G TTerd 27

(1) STUR-TNHIwR

(2) SIeER—Sarw Ui

(3) TG-S

@) SrTaR—ETENT

Page 4 of 24-
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16. Read the following statements about 16 FWIR & sR ¥ F=fifa wuel @1 iy —
Bagore - (A) IR ‘ﬂgfle“ﬁtl?ﬁﬂT et §1
{A) Microliths have been found from 7
Bagore. (B) dw. g 9k & Scamaael 4 9
(B) V.N.Misra was one of the excavators of TP Al
Bagore.
(1) Aand B both are correct (1) Avd B SHf 981 &
(2) Only A is correct (2) HaeT A TS B
(3) Only B is correct (3) Bact B 93 &
(4) A and B both are incorrect () Avd B &N g &
17. Maximum coins of which of the following 17 o™ # 7= & ¥ 5w oI Siomid
 republican tribes have been found in & At fies u gy 87
Rajasthan?
(1) Yaudheya (2) Malva (1) e @) et
(3) Arjunayana (4) Rajanya (3). ST (4) o
18. Kakildev’ belongs to which of the following 18 ‘@Iferea’ fm & & fwr oo @ wwafrg €7
dynasty?
. (1) Guhils (2} Chauhans () e (2) e
(3) Rathore {(4) Kachhawaha (3) <Sts (4) FoarE!
19. Which of the following ruler of Mewar gotthe 19 =1 3 & 5w ¥ & TNI& 1 femiteTe fat
Chittor Fort repaired? o R DRl Al?
(1) Maharana Amar Singh (1) TERmT o= e
(?) Maharana Karan Singh (2) werm™r S {¥E
(3} Maharana Jagat Singh (3) YERTT ST i
(4) Maharaja Takhat Singh @) TRRT T Rig
20. Who became the chairman of the Municipal ~ 20- FawX 1944 ¥ IR SIMQR R Tiferal
Board in the Jodhpur Municipality Election T W RS IS B A PI. G717
held in November 19447 ‘
(1) Jai Narayan Vyas (1) SRFERIET 2T
(2) Mathuradas Mathur (2) WYRTETT IR
(3) Dawarkadas. Purohit (8) gREEE Rfed
(4) Achaleshwar Prasad (4) IrerelTa’ NS
21. Where did Swami Gopal Das Ji establish 21. R} Neere o 7 1907 €. A RawiRel wr
Hitkarini Sabha in 1907 A.D.? 1 T Fal B A7
(1) Churu (2) Ajmer (1) 95 (2) 3R
(3) Tonk (4) Banswara (3 <iF @) gigar=T
[0 1] - |Z[ Page 5 of 24 '




22.

On the recommendation of which of the
following Committee, ‘Matsya Sangh’ was
merged in Rajasthan?

22.

1 4 @ g affy 91 argeer ) e e
BT YOI H 3oy fbar Ty ar?

(1) P.Satya Narayana Rao Committee (1) . TR 99 |
(2) Shankar Rao Dev Committee (2) %X %19 <9 AR
(3) SK. Dhar Committee "(8) TaB R Gy
(8) Fazal Ali Committee (4) B oAl Gt
23. Which of the following communities use 23 fRIRaT § ¥ B WEE o ARW @
term ‘Bader’ for its temples? oy 9<% g 3T YT BRam &7
(1) Ahir (2) Banjara (1) 3ER (2) 99T
() Seervi (4) Dewasi (3) G (4) darl)
24. Who among the following served asthe Chief 24 F=ifoRag § ¥ 39 &9 ) o &
Minister of Rajasthan thrice? qEHAl 87
(1) Jai Narayan Vyas (1). ¥ AREY FN
(2) Vasundhara Raje (2) THRT WS
(3) Bhairon Singh Shekhawat (3) &Nf Rig IEmEg
(4) Shiv Charan Mathur (@) g =1 "ARR
25. Triloka, Hiranand, Sahib. Ram and Ramji Das 25. qmp, ERM=, iReRM U4 IFeNeY B
were the painters of which Princely State? <z Ramad @ feer 97
(1) Jaipur (2) Jodhpur (1) SHIqR (2) SRR
(3) Bikaner (4) Kota (3) fiorx @) Bier
26. Who among the following is the author of  26. PRI ¥ W BN W FAZA' BT WAPR
‘Raga Kalpadrum'? =14
(1) Radhakrishna (2) Bhavbhatt (1) <rerpeT (2) 99 W
(3 Pundrik Vitthal  (4) Krishnanand Vyas (3) gosdiep fager @) PO TN
27. In which of the following Forts the ‘Nana 27 Firiied &l ST R ‘SHIRA &1 SeRT
Sahab’s Jhalra’ and the ‘Ibrahim’s Jhalra’ SR g fbel # erafer &7
reservoirs located?
(1) Taragarh (Ajmer) (1) TRITE (3rorre)
(2) Gagron Fort (Jhalawar) @) TR g (gireTiars)
(3) Bala Quila {Alwar) (3) 9Tt fopetr (3reie)
(4) Bhatner Fort (Hanumangarh) @) weR g (E7Te)
28. The Naga branch of Dadu cult was founded 28 37g ter @ =TT 9 fhed g7 @i &
by - Tg oi?
(1} Garibdas (2} Miskindas (1) N 2 ARTT=™
(3) Banwaridas {4) Sunderdas (3) gaE™ 4) o=
[0 1] - M Page 6 of 24




29. Which of the following folk deity has their 28 FrfeRad § ¥ fbw dlie I 31 4= Hiew
main temple in ‘Kolu'? ‘Bie] # 87
(1) Gogaiji (2) Tejaji (1) <TrTotT (2) ISl
(3) Pabuji (4} Mallinathji (3) wTeeit (4) HeeeTRrSlT
30. Which magazine is published by Rajasthani ~ 30- Q’I\_IRQJF?I a9 Wit Ud Eepiy e,
Bhasha Sahitya and Sanskriti Academy PBR ERT BRI UEBT BT Gh19 fhar sirr
Bikaner? 8?
(1) JagtiJot (2) Madhumati (N S o (2) FrRpAil
(3} Parampara {4) Maru Bharti (3) TRENT () 7% ¥R
31. Eastern Winds mean - 31. wRqE & AR © —
(1) Wind is blowing from East to West (1) g1 gd < TR¥Ed & IR T @ B
(2) Wind is blowing from West to East (2) gar 9T ¥ 7 9 3R T« <& 3
(3) Wind is blowing from South to East (3 =&ar <for § g @ AR A T B
{(4) Wind is blowing from North to East (@) gar TR 9 74 Y AR A B B
32. Which of the following is ‘Macaroni Wheat'? 32 o § 9§ B W VBRI g 57
(1} Triticum aestivum (1) fefean g
(2) Triticum vulgare ) fefeeq @R
() Triticum durum (3) fefeam s
(4) Triticum dicoccum (8) Rfewq sEoiPd
33. Arrange the following types to erosion in 33 &1 3WR&A & Fm USRI BT HeM o afm
order of ‘first to advance’ stages - TR H HHAGE PN —
(a) Gully erosion (a) Tl SRS "
(b) Sheet erosion (b) e 3w
(c) Rill erosion (c) R sruRe
(d) Spiash erosion (d) ¥R AW
Order of first to advance stages - o § A T @ @) SeRemd —
(1 b,d,c,a (2 d,b,c,a Mbdca @ dboca
34. One ‘hectare cm’ of water is equivalent to 3% T& ‘Fqca WA TR b oliex rl B
how many litres of water ? TqHHE BT 87
(1) 10,000 litres (2) 20,000 litres (1) 10,000 =iex (2) 20,000 Tl
(3) 50,000 litres (4) 1,00,000 litres (3) 50,000 <fiex (4) 1,00,000 <ficx
35. Total water requirement of Sugarcane crop 35 =1 @I TEl Bl el St AT g -
is -
(1) 100-200hacm  (2) 200-300 hacm (1) 100-200%. ¥4 (2 200-300%. 9.
(@) 300-400 hacm  (4) 400-500 ha cm (3) 300-400%. . (4 400-500 . B,
[0 1] - M Page. 7 of 24




36. A day receiving more than ......... mmrainfall 36 A 4 9% o i e e
is called as ‘crop rainy day’. feaw ‘woe 99 RRaw’ Per wmar 2
M 25 ) 5.0 (1) 2.5 2 5.0
(3) 7.5 @ 10.0 (3) 7.5 4 10.0
37. In semi-arid regions P/PET ratio stands  37- IEYH & A onf/ofean  areicas
between - U BT & —
(1) 0.50t0 0,75 (2) 0.03t00.20 (1) 0.5090.75 (2 0.0390.20
(3) 0.20 to 0.50 (4) 0.75 to 1.00 (3} 0.2090.50 @ 0.7591.00
38. Calculate the commercial dose of herbicide 38 2.0 ¥R%R & & frg wFEN o =WRS
for 2.0 hectare with following information - IR S LU
HIFTY —
(a) Available formulation - 20% WP (a) SUCTE BHeRM — 20% S=g.,
_ (b) ToSHa B AR — 4 T Aflhy
(b) Dose of spray - 4gm a.i./ha -
(1) 8gm () 20gm (1) 8 uH 2 20 1w
(3 40gm (4) 100gm (3) 40 ITH (4) 100 w9
39. Arrange the following crops in order of low 39 e G¥iel &) ‘B9 I AR NET # A B
to high’ protein content - FHR R HHEG BN —
(a) Wheat (@) g
(b) Groundnut (b) Ferweit
(c) Rice CEES
(d) Soybean (d) Grade
(1) a,¢,b,d @ ¢, b,ad (1) a,¢,b,d 2 c,b,a,d
() ca,db (4) ¢ a,b,d () ¢,a,db 4 c,abd
40. The optimum seed rate (kg/ha) for 40 Wox 4 @ S T s 9 w (@B
cultivation of hybrid rice is about - /BRM) § —
(1) 15 (2 25 (1) 15 () 25
(3) 35 (4) 45 3 35 4 45
#- Which of the following practices is adopted ~ 41- 3] & ‘& JH9 & R P @ by
to prevent ‘greening’ in Potato? 3ITTS Tl 87
(1) Closer Spacing  (2) Earthing up (1) ot qarg 2 g =erT
Sowing
(3) Early Sowing (4} Normal Sowing @) et g @ e g
42. Sugar-beet belongs to the family - 42. g’ 59 g § w=fg 27
(1) Chenopodiaceae (2) Pedaliaceae (1) FRifsTE (2) teefiozit
(3) Euphorbiaceae (4 Cruciferae (3) Ywifdy @ mAwd
[01] - M Page 8 of 24
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43. What will be the real value of seeds having 43 4151 &1 arafdd a= @ 8 A Ygan 80
80% purity and 70% germination? IR a 3fgRer 70 URRE 87
Mg @ 52 (1) 48 T @5
(3) 54 {4 56 (3) 54 (@ 56
_ 44. Agrisilviculture refers to - 4. wiiRcdipen: 59 e o 87
ﬂ (1) Crops + Animals (2) Crops++ Grasses (1) s + WY (2) v + 9N
. (3) Crops + Flowers (4} Crops + Trees (3) A + Gl (4) wad + 8
45. Which crop is used for productionof ‘Oitand  45- BF W B T T W TF & UG b
; Fibre’ both? ferg Suarft 27
j’ (1) Castor (2) Jute (1) 3RS (2) e
i (3) Mesta (4) Linseed (3) =T (4) arerel
46. The active factor of soil formation is - 46. w1 T T A RS F —
. (1) Climate & biosphere (1) STy T Sig qUgd oWt
{2) Parent material (2) g el
(3) Relief T (3) RIS
(4) Time @) Ty
47. Diagnostic subsurface horizon is - 47. ITRR FEF YOe RN HEaEl & —
[: (1) Epipedon (2) Plaggen (1) sfvsm @) =T
‘ (3) Endopedon (4) Histic horizon (3) TeUEN (@) RRResd IR
. 48. Salt affected soils of the arid zone are 48 gwp & @I wiavr ywIfad HEwl B fhe TETFTYT
- classified under which soil order? # gifiea fopam <mam &2
(1) Ultisols (2) Spodosols (1) rcdae (2) T
(3) Mollisols (8) Aridisols @) A @) RS
49. Organic matter of soil decreases the fixation' 62_49- a1 4 HHH qeR 5 a9 3 Reriawo of
e of - - % BN &7 ’
¥ J (1) Nitrogen * (2) Potassium « () =9 @ weRrm
o (3) Phosphorus (4) None of the above (3) PRBR @ T 9
50. The deficiency of copper in plants causes 50 il # @4 & T 9 = @ SRy By 87
which disease? i'
| (1) Die-back disease (2) Khaira disease (1) S 9% T (2) T
ii (3) Whiptail disease (4) Early blight @) fereq T T
| disease B
[01]-M Page 9 0f 24




51.

52.

53.

585.

56.

57.

Who gave the DTPA extraction of
micronutrient determination method in soil?
(1) Subbiah and Asija (1956)

(2) Lindsay and Norvell (1978)

(3) Berger and Truog (1939)

(4) Adamus and Hartwing (1982)

Which one is non-edible oil cake?
(1) Coconut cake

(2) Rapeseed and mustard cake
(3) Groundnut cake

(4) Castor cake

Which autotroph microorganism derive its
energy from the oxidation of inorganic
compounds?

(1) Photoautotrophs

(2) Chemoautotrophs

(3) Thermoautotrophs

(4) None of the above

Gypsum is used for reclamation of which soil

type?
(1) Saline (2} Sodic
(3) Acidic (4) Water logged

Which of the following soil has highest total
poraosity?

(1) Sandy soil

(3) Clay-loam soil

(2} Sandy loam soil
(4) Loam soil

Tensiometer used to measure soil moisture
content could be used upto which soil
moisture tension?

(1) 0.85 atmosphere tension.

(2) 3.0 atmosphere tension

(3) 5.0 atmosphere tension

(4) 12.0 atmosphere tension

Which is the most efficient implement for
land grading when animal power is used in
the job and the fields are of small to medium
size?

51.

52.

53.

54.

55.

56.

57.

9eT ¥ P Ue adl @7 SLAWY. e
oiegor fpee grRT fRwy Tar?

(1) g ve i (1956)

(2) fofew wd dRda (1978)

(3) TSR TT £ (1939)

(4) veng wd Bl (1982)

= 4 9 oM W IR e el 87

(1) iRTa Sl

(2) T UF R B el

(3) el Tl

@ sRvd Gail

B A WU GEAoaTY] GRS Tari &
SITFNHERT ¥ Sl U Bl 27

(1) BrERicEmd

(2) R

() eMkifegT™

(4) SR ¥ I Bl &

oo &1 SUEnT f5a UeR 31 9aRl & R
&g T S 82

(1) <oy (2) &N

(3) arend (4) STel 9_1G g
= 4 ¥ 59 97 9 go e |99
¥ BT 87

(1) 9g8 qo1 (2) g IMe ¥aT

(3) Fi—aFe a1 (4) TMe AT

7T & T 99 A D forg F A form W
qrer efRRMIER 42T 9 fbd WR 96 ga—+
TG W BRI HAMT?

(1) 0.85 arTERvT TG

(2) 3.0 TAERY TE

(3) 5.0 TGERYT TG

(4) 12.0 99RO G99

Bic (4 AuM IBR & ©q 4 4y iRt &
o) g wRF & ST 9 W99 gud 99
P 27

(1) Bulldozer (2) Buck Scraper (1) geTeIoR 2) 95 B
(3} Land plane (4) Wooden float @3 <ve wH @) aFE 3T gl
[O 1] - m Page 10 of 24
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58. To measure comparatively high discharge 58 Y& Riwng =1 a1 B¢ ¢ P IMScoe B W
flow in an irrigation channel or a well outlet UG Ied ‘Fﬂ%’ EHT = & fog e
atthe source, which of the following device is B'EIER‘Uﬁ =i 1 aﬁq-m Y IS5 &7
best suited? Jf
(1) Orifice (2) Rectangular weir M) aRfbe 91 (2) JEaeR
(3) V-notch (4) Cut-throat flume (3) q—== (8) Hec—ic TeH”

59. Which type of pump discharges the same  59- Ul & 919 (8€) & *RU& f&g worR ®7 du
volume of water regardless of the head U @ M WET 67 e #Rar &7
against which they operate?

(1) Centrifugal pump (1) AwRETe 99
(2) Vertical turbine pump (2) Gd exarE a
(3) Reciprocating pump (3) BT b
(#) Submersible pump (4) weiiaer U

60. e is source of dwarfing gene in wheat. LU g # 4N & S &1 S B
(1) Norin 10 (2) Kafir (1) R 10 () IR
(3) Dee-geo-woo-gen (4) Taxas @) SRt~z @) ™

61. Which among the following is considered as 1. f//1 & & ®i==1 AT oK I 3G §
objectionable disease in pearl millet seed JMURTSD T & ©T ¥ T Wl 27
production?

(1) Wikt (2) Blight (1) faee (2) gerr
(3) Ergot (4). Khaira (3) arife @) @x

62. Mutations that convert the wild type (the  62. SORads, &I Sivell UPR (MY BHICEY)
common phenotype) to the mutant form (the HI SANgdl ©U (o9 BHesy) # uRafkta
rare phenotype) are called as - TG & PEeld & —

(1) Recessive (2) Dominant (1) awrd SaORady (2 ToE SReds
mutation mutation R e
(3) Reverse mutation (4) Forward mutation (@) wicreir (4) % SR

63. Tendency of the genes to stay together  63- GUUN & SRM WMl & UTF T T &l
during inheritance is called as - TgRT PEARN & —

(1) Independent (2) Segregation (1) wds e (2) geraRo
assortment . . o
(3) Genetic Linkage (4) Crossing over ®) a3 Tl (4) Wi

64. Which among the following method/sisnot 6% /= % ¥ @+ R/l =1 swOW
used for handling segregating generations? frRifora ARl & vsem &g 21 frar wimr 27
(1) Back Cross (2) Pedigree (1) 9% =9 (2) derge Ay
(3) Both (1) and (2) (4 Mass Selection @) (1) sk ()3 @) Yo T+ -

85. Grow Out Test (GOT) is used to determirie - 65. 7} aSe UIETT (GOT) BT SUM ... @ forg

fomar < 1
(1) Physical purity  (2) Genetic purity (1) e g (2) s T
(3) Germination (4) Viability (3) i @) e ema
[01] - M Page 11 of 24




66. In which gene pool biological species canbe 66 =1 # & fore o9 uw oY Wfaw womferdl &
inter crossed easily without any problems THOT A &, Far & 957 bl sdven o
with fertility of the progeny? G &7 ’

(1) Primary gene pool () weifw <iF g

() Secondary gene pool (2) g <9 gm Lo

(3) Tertiary gene pool @) e o @ |
4) Both (2) & (3) W) (2) i (3) S |

67. Which among the following is major  67- 79 § § Biar GeEr H T UoFM SE9d
breeding objective in pulses? 2?

(1) Erucic acid elimination (1) gofie e S g {
(2) Flowering synchronization (2) g FEBTel

(3) Non-shattering (3) < Sl

(4) Both (2) & (3) @ (2) 3R (3) =F

68. Which selection favours optimal phenotypes ~ 68. S 99+ =RF a1 & W & NG B
approximately close to the mean of the SR 0T WTSY 6T SRRl &Rar 87
expressed variation?

(1) Stabilizing (2} Disruptive (1) Rer = (2) faeeaer 99
selection selection

(3) Directional {4) Response to (@) fereers = (4) = TR et
selection selection

69. Superiority of F1's over the better parentis 69 F1 Wdld & 309 950 oo 9 Soal —
called as -

(1) Male sterility (1) =% Fearcll Fgerll & |

(2) Standard heterosis (2) 7% PN ST PR B |
(3) Heterobeltiosis (3) icag WP i Heawn) Bl
(4) Average heterosis (4) 3T HPT ST BEa B

70. GNG 2171 is an improved variety of - 70. Sfigasi. 2171 f5a woa o 9@ e 87
(1) Groundnut (2) Chickpea (1) et 2 ==
{3) Pearl millet (4) Mustard (3) 9roRT (@) Tvsi

71. Which of the following is responsible for fruit 71 ol 4 & B wa 9o & forg STRarE
ripening? 87
(1) Gibberellins (2) Ethylene (1) R () sl
(3) Cytokinin (4) Abscisic Acid (3) QRN @) ufeafys fie

[01] - | Page 12 of 24




72. Match List - I with List - I and select the 72 g1 &I G-Il ¥ G P &R el
correct answer - TN BT T PINg —
List-I o — 1
(i) Indole Butyric Acid (i) = FgieRe whes
(ii) Gibberellic Acid (i) Pwfde s
(iii) Zeatin (iii) ﬁ-qﬁ—,.r
(iv) Abscisic Acid (iv) TRaRe TRe
List- 11 P
(a) Initiation of cell division
(2) DIRG fPr= @7 Freaa
(b} Stress hormone
s (b) @¥E EFIA
{c) Root initiation
(d} Breaking dormancy (c) ¥ 3¢
() i-cii-d,iii-a,iv-b (d) IR BT ST
(@ i-cii-aiii-d,iv-b () i-cii-dii-aiv-b
(3) i-c ii-b,iii-aiv-d @ 1-cli-a ili-d,iv-b
() i-cii-aiii-d iv-b @) i-cii-b,iii-aiv-d
(@) i-cii-aiii-d,iv-b
73. Diffusion Pressure Deficit (DPD) of a cellis  73- ®If¥ieT & fawwer €@ <gar 7 & R
equal to - BRI & —
(1) Osmotic Pressure / Turgor Pressure (1) TRERY TE / THif T4
(2) Osmotic Pressure + Turgor Pressure (2) RRRY B9 + T g9
(3) Osmotic Pressure - Turgor Pressure (3) YUIERYT €19 - THIfT TE
(4) Turgor Pressure - Osmotic Pressure (4) TR €9 - WY €9
74. What is the average physical sizerange (nm) 74 wra 3 AT 391 gfn oo & Aifve emer
of Nano Urea particles being manufactured T (T.GH) @ 87
in India?
(1) 1-20 nm (2) 20-50 nm (1) 1-20nm {2} 20-50 nm
(3) 50-100 nm (4) 100-200 nm (3) 50-100 nm {4} 100-200 nm
75. The term “nanotechnology” was first coined 75 “SIcalciiol” o8 Hawed far o —
by -
(1) Richard Smalley (1) ReS e
(2) Norio Taniguchi (2) FRaTT TFRgEr =
(3) Richard Feynman @) RaS whq o
(4) K. Eric Drexler @) 3. IRP SFFerR A
76. The value arrived by dividing the sum of  76. J&vli & ANT &I Jarll 1 o F&AT | WRT o
observations by the total number of TR WIS A HEAT & —
observations is called as -
(1) Mean (2) Median (1) =1 (2) wifegenT
(3) Mode (4) Correlation (3) 9gaid (4) Aewsy
77. The correlation coefficient is a unit free 71. HEEE UG U SPIE gib 919 o Fraed! Vo
measure which ranges from- ... gl B
(M 0to1 (@ -1to+1 (M od1 (@ -19+1
@) 0to 4 0to5 3 pFoo ® 075 /
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78.

The error degree of freedom in Randomized
Block Design (RBD) with ‘t’ treatments and ‘r’
replications is calculated by -

(1 r-1 2 (r-1) (t-1)

@) t-1 (4) rt-1

78.

f

|
e s afimerE @RAS) & v
STER R v AReT & 9 g @ s d

PIST DI TOFT P WA & — /
(1) r-1 @ (1) (1) R
3) t-1 4 rt-1

7. Which vegetable is very deep rooted from 79 Ffafad § § I g 1= os acd
following? Heal] 87
(1) Pumpkin (2) Onion () wgg (2) 1o
(3) Cabbage @) Chilli 3) gard @) fae
80. Which type of seed bed is prepared mostly 80 Tw: fbw 4o @1 wiEdt § TR few
during winter season? STl 87
(1) Raised nursery bed (1) <3 g8 wR
(2) Flat nursery bed (2) T9aa FRY
(3) Sunken nursery bed (3) S g8 (Ha TR)
(9 All of the above @) SRIg T
81. ‘Pride of India’ is a variety of - 81. ‘yrgs oifw sisar ve fow & —
(1) Cabbage (2) Cauliflower (1) TRy Y (2) Herrl o i
) Brinjal @ Chill (@) 1 A @) frd
82. ‘Leaf curl’ disease is caused by - 82. % Pel' AT FT RS § —
(1) fungus (2) bacteria (1) 55 (2) Sfiaroy
(3} virus (4) mycoplasma (3) fermmo (4) wrgPIATE
83. Which is quick growing vegetable crop? 83. <fiy Sewiea B Jrel ool PRl 87
(1) Cabbage () Cauliflower (1) SIRTRY () wEm
(3) Radish {4) Carrot (3) Teh @ TR
84. Which is the most easy and popular method 84 sifyar = & Qaiftles e 9 yafera AR
of planting of fruit plants? B 91 87
(1) Square system  (2) Hexagonal system (1) TR fafEr (2) yeuoTeR Ay
(3) Contour system (4} Quincunx system (3) wH=g fafYy @) w7 fOfr
85. Percentage of essential oil present in dry 85 gFF & T@ T F oo yfcrerd 1
coriander seeds is - YRR siftaer S B
(1 0.1t0 1.0 % () 2.5't0 3.5% (1) 019 1.0% (2) 25%3.5%
(3) 4.0t05.0% (4) 5.5 to 6.0% (3) 4.0¥5.0% 4 55 J6.0%
86. Gladiolus is propagated by - 86. ToifSaler & WO o & §RT BT B
(1} Bulb (2 Corm (1} 3epdg () =g
(3) Rhizome (4) Tuber (3) e @) Fe
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87. “Fairy Ring” problem in lawn is caused by - 87. @ A wad R wwe 5| HRoT SRl 87
(1) bacteria (2) airborne fungi (1) SF&fRan (2) argeIia Bhe
(3) soilborne fungi (4 virus (3) e[ Bhe  (4) faurg
88. Riceyness in cauliflower is due to - 88. werindl § Rl &1 HRUT & —
(1) low temperature (2) high temperature (1) =1 e (2) ST AU
1 (3) highmoisture  (4) high rainfall (3) 9=g T4 (4) a1 quf
89. ‘Pysa Madhuras' is a variety of - 89. ‘g MW’ T e & —
(1) Watermelon (2) Round melon (1) TRgw & (2) fever 1
(3) Long melon (4) Muskmelon (3) BHpSl Pl (4) BRgST B
90. ‘Little leaf in Brinjal is transmitted by - 90. 9 # ‘forfes %’ &1 aEd § —
(1) whitefly (2) fruit fly (1) "wg #adl (2) Bt Wl
(3) leafhopper (4) aphid (3) wefiar gt (% (@) = (@)
ElwR)
91. ‘Pusa All Green’ is the variety of - 91. ‘gu sifer W T fF & —
(1) amaranthus (2) spinach (1) TReerg (2) grctp
(3) fenugreek (4) lettuce (3) w=h (4) oiegH
92. The pungency in chilli is due to - 92. fiyg @ a9 FROT BT 89
(1) rutin (2) capsaicin M ¥d= (2) ftafE
() lycopene (4) carotenoid (3) g (4) PSS
93. The best example of ethylene absorber in 93. YBfoiT ¥ SaERE @ smNE @T EEREN]
packaging is - ISR & —
(1) ferrous oxide (1) o<g Iifeags
(2) hydrated lime (2) g 3T T
(3) potassium permanganate (3) ey Wi
(4) Activated charcoal @) B Hiaer
94. ‘Surya’ is variety of - 9. ' TF o T -
(1) Grape (2) Papaya (1) 3R &1 @) udig o
(3) Pomegranate (4 Aonla (3) I3[R N {4) siae B
95. ‘CA storages’ are based on which system? 95. ‘diu. Woeryr fr ugfy W amnRa 87
(1) increase the Oz and reduced the CO: (1) difiioe & IffiedT 9= oY S
concentration IITFATSS B U
(2) reduced the 02 and increase the CO: (2) i BT BT PTG BET S
concentration aifeaTse B Sidwar
{3) increase the Nitrogen and 02 (3) TEEIoT 79 aitadier =Y sy
f:oncentratlon . (4) Tepy 3 & i o FE <
(4) increase the sulphur oxide and decrease o E
giedrss i P
CO2
[0 1] - M Page 15 of 24




96. The finished Jam should not be more than  96- IR 4§ ¥ swEfed WP BT A o
............................... % invert sugar. giierd | e T B TR
(1) 40 percent {2) 20 percent (1) 40 uf=g (2) 20 gyR=G
(3) 55 percent (4) 67 percent (3) 55 yfer @ 67 yfoza
97. After processing, the cans should be cooled ~ 97- TEwRY & S, S&T BT ol W SV T
rapidly to about - ST & —
(1) 29°C (2) 39°C (1) 29°C (2} 39°C
() 49°C 4) 59°C (3) 49°C @ 59°C
98. High pressure drip irrigation system works 98- 9=a gag f3u Risr 59 <99 ® a1t oo
at operating pressure of - 87
(1) less than 10 psi (1) 10 vivasns. ¥ &9
(2) less than 20 psi (2) 20 9\TTaE. § B9
(3) less than 30 psi (3) 30 GloHaE. § &4
(4) 30 psi or more @ 30 Nvgans a1 afe
99. Which of the followingisa day neutral plant? 99 =1 & & ¥ w1 9en § ~gger €7
(1) Onion (2) Chilli (1) = (2) fred
(3) Fennel (4) Capsicum (3) <diw (4) Rren fd
100. Shoot gall maker is a part of - 100. g1e viicT %9 BOa o1 DI 87
(1) Aonla (2) Banana (1) 3gen (2) wer
(3) Apple (4) Ber (3 w9 @ ®
101. Saponins are the active ingredient of - 101. JuiFF e & & oo afihy Tes 27
(1) Safed musli (2 Aloe (1) qwg THeh (2) TelaRT
(3) Senna 4) Opium poppy (3 g1 (4) 3
102. Which of the following is not a variety of 102 {37 % & ®iv & arcves & b =18} &7
Ginger?
(1) Suprabha (2) Varada (1) o (2) agf
(3) Suruchi (4) Krishna (@) g @) o
103. Selective and complete removal of thepartof ~ 103. O & 9T B To=H AR of w9 § &M
plant is termed as - PEAMT & —
(1) Thinning (2) Notching (1) fave (@) =fr
(3) Heading back (4) Nicking (3) efET §% 4) T
104. Shree Ganesh in a hybrid of - 104. Sy e -1 9 9 forae daw &9
(1) Marigold (2) Chrrot (1) ey (2) TToR
(3) Gladiolus {4) Rose (3) IR @) e
105. Chrysanthemum charm is a variety of - 105. fpdeemm 9 frer 7 & fowa) ey 87
(1) TagetesErecta  (2) Tagetes patula (1) g T (2) SeH ugEr
(3) Chrysanthemum (4) Rose (3) TerarSal (4) o
[01] - Page 16 of 24
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108. Total horticultural crop production in India
according to the year 2017-18 is -
(1) 189 million tonne
(2) 390 million tonne
(3) 311 million tonne
(4) 405 million tonne

107. Forest Conservation Act was passed on -
(1) 1990 (2) 1955
3) 1980 (@ 2000

108. The branch of forestry that deals with the
determination of dimensions is -
(1) Agrobiology
(2) Agrostology
(3) Silviculture
{(4) Forest Mensuration

109. Which among the following statements is

incorrect?

(1) India ranked 3™ in egg production in the
world during the year 2020.

(2) As per the National Accourits Statistics
(NAS), livestock sector contributed
4.35% in 2019-20 to the India’s Gross
value addition.

(3) In India, land holding less than one
hectare is classified as marginal holding.

(4) As per year 2019-20 data, Maharashtra
and Rajasthan were the country’s largest
producers of pulses and oilseeds,
respectively.

110. Which of the following is the implementing
agency of National Agriculture Market?
(1) Chaudhary Charan Singh National
Institute of Agricultural Marketing
(2) Indian Council of Agricultural Research
(3) Agricultural and Processed Food
Products Export Development Authority
(4) Small Farmer’s Agribusiness Consortium

106. 2017-18 & IFAR G Se-P! HEaA BT
IUET & —
(1) 189 fieim <=
(2) 390 fielas 1
3y 311 fAeigs &4
(4) 405 Rt <1
107. 5= wiveqor SfRFRM Wipa gorl -
(1) 1990 (2) 1955
(3) 1980 (4) 2000
108. grivies) 1 @ wrar el A= sl @y
3 T e € —
(1) wuEmEErs
(2) TR
3) RrediPpeeR
@) R TREE
109. iR & | #19 a1 FF o 87

(1) w7 gferm & sfer Sareq § 9 2020 §
AR R W o7 |

@ 79 2019-20 & W @ dFS D
ITER, U &3 P IR & TEHA o
QT F 4.35% FRTEH o]

() 9RG H, TH vEcHR F A Y W B
dia Wid & w9 A geifea fhar o §)

(4) 99 2019-20 & S{PHSl T IR, TERG
3R- ORI A gored R fere &
W P FIW. IS SAGH oY o |

10. f=falea & 4 o9 TSE F IoR @
mﬁaﬁqﬁ?ﬂ}%?
(1) =R TRu-RiE TS S fRuer e
(2) e iy srEeTe uRg
(3) BN sk yewpa W SR P e
wiIferRoT
(4) 7Y gub B AR HY
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111,

2.

3.

114.

As a premium, what percent of sum insured
have to be paid by the farmers for all the
Kharif crops under PMFBY?

(2) 2.0 percent
(4} 1.0 percent

(1) 2.5 percent
(3) 1.5 percent

Which is used to calculate the expected
change in profit for a proposed change in the
farm business?

(1) Enterprise budget (2) Complete budget
(3) Partial budget (4} None ofthe above

What is the structure of co-operative banks
in terms of short and medium term credit
supply in Rajasthan State?

(1) Three-tier 2) Two-tier

structure structure
(3¥ One-tier structure(4) Four-tier
structure

The graded agricultural products, according

111,

112.

113.

114.

WeE & %y § aff @O% waar & forw
framl o TH 9 a9 G ©

ST YT MR BT e WioRTa A &
Ted 27 ’
(1) 2.5 ufder (2) 2.0 ufera

(3) 1.5 wferema (4) 1.0 yfera

P g H Raiad uRaas & fow o 4§
fomar e 27

(1) SeH qguic (2) guf qa1e

3) 21iR¥mm Tuie (4). 378 ¥ BE TE
oY 3R WA Al & T MYt B wed #
HEGN P! Bl oI T § TRAT R’ 87
(1) P S (2) R SReT

(3) THd TR AT () IR WY GEAT

PN {[9UUF elEhR, YR GVGR gRT Had

to the standards fixed by the Agricultural TS B IR W IS FY TRl W o5
Marketing Advisor, Government of India, AT & —
bears the label - |
(1) IsI (2) HALLMARK (1) 35 TH.3ME, (2) gfemms
3 QTIT{'['EE 4) IUH §
(3) AGMARK (4) None of the above ®) @ & 1 PR
115. Experiential Learning/Hands on Training, 113 gfwa amniRe sifim /e sienRa uideor,
Skill  Development  Training,  Rural Ry 2 S ;
Agriculture Work Experience, In Plant ' ' P ard 37,
Training/Industrial attachment & Project Sed seRal § senfe uRewr ud
work, are the components of which of the ; .
following programme? RS Emﬁ & @ g &7
(1) Krishi Vigyan Kendra (1) FR RAsm o=
(2) Swarnajayanti Gram Swarojgar Yojana (2) Tgol SEdl U WRISER S5
(3) Student READY (3) T S
(4) Jawahar Rojgar Yojana @) Tﬂ%ﬁ:‘? TR AT
116. As per Ensminger (1962), which of the  116. GR¥TR (1962) & SFWR ‘TOR & <o &
following statement is not true about the . . . .
“Philosophy of ExtetisionEducation”? s R A B o T e @7
(1) Extension is a profe§sional process. (1) Y9R U agwife uihar 2
(2) Extension is working in harmony with (2} SR @ GRPRY B SFER B BT TR
the culture of the people. =3
(3) Extension is helping people to help (3) ST BT, T B ERIGT PR § qeT Bl
themselves. TR 2
(4) Extension is a two way channel. (4) FER &) TR ToTe 2|
[01] - | Page 18 of 24




117.

118.

119.

120.

(1) Action —

Who are the members of Gram Sabha of a
Gram Panchayat?

(1) Only Ward Panchs

(2) Only male members of the village

(3) All residents of the village

(4) Only those persons registered in the
electoral rolls

Which of the following program was merged

into “Swarnajayanti Gram Swarojgar

Yojana"?

(1) Jawahar Rojgar Yojana (JRY)

(2) Training of Rural Youth for
Employment (TRYSEM)

(3) Pradhan Mantri Rojgar Yojana (PMRY)

(4) Mahatma Gandhi National Rural
Employment Guarantee Act (MGNREGA)

Which of the following sequence of Teaching
- Learning Processin Extension is correct?
Attention - Desire -—
Satisfaction — Conviction — Interest

Self

(2) Desire — Interest — Satisfaction — Action
— Attention — Conviction

(3) Attention — Interest — Desire —
Conviction Action — Satisfaction

(4) Interest —- Attention —
Satisfaction — Conviction — Action :

Which of the following model of

communication has thé element of “Audience

response or feedback”?

(1) Berlo model

(2) Leagan's model

{3) Aristotle’s model

(4) Westley and MacLean model

Desire —

117.

118.

119.

120.

U U B 9 G B e -9 B
&

(1) oad dis U9

(2) 39 7ilg & go¥ wad

@) g & T Farh

(4) wael wesTr G H gsiipa TrEarl
Frer % 9 B W BRi @t et s T
TRISHTR Ao § faera foran e

(1) SETER ISR G (JRY)

@ wrior gaeil & R WRGR &g Ui
(TRYSEM)

(3) yyHEA ASHIR AT (PMRY)

(@H‘e’l‘ﬂTWﬁW&;ﬁummnﬂa
SRFra" (MGNREGA)

Prer ¥ ¥ TR RIS ST — o S

BT P T HH Gal 27

(1) “f3har — eATIREYYT — 8T — HRe, favam
_ e -

(2) szB1 — Bfg — wgfe - fm SR
L CLEIE]

(3) SJFTHYT. — B - BT — fa'atrm oz
~ ¥t

@ T — T — AEwYT — gt —
farsar — T - '

Wa%ﬁﬁﬁ'@r%ﬁwﬁ sﬂﬂraﬁa%’r

wiefpar zﬁf'ﬂﬂﬁwsﬁm%?
(1) el Hied

(2) i Hfsa

(3) TR=ee Hea
(4) a\'ﬁ@ﬂ%ﬁﬁr‘r’r@a

121. Frieswal cattle is cfoss of - 121. fipgare TR fhae e 87

(1) HF x Brown Swiss (1) 9. %, X :U:! Ra«

{2) HF x Sahiwal (2) Ta. TE. x_wé‘ma

(3) HFxRathi i (3) U9, T%. X IS

{4) None of the above (4) SuRITT H§ | PIg T81
122. Marwari is breed of - 122. ARt gy T 87

(1) Camel (2) Goat (1) &e @) 99

(3) Horse {(4) All of the above (3) =T (4) SuRie il
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123.

124.

125,

126,

127.

128.

129.

Avishaan sheep is a cross of how many
breeds?
M2
®3) 3

2 4

(4} None of the above
According to 20t Livestock Census. (2019),
goats population in Rajasthan is -

(1) 20.84 Millions {2} 30.20 Millions

(3) 35.46 Millions (4} 40.44 Millions

In cows, normally placenta is expelled -

(1) Within 4 to 8 hrs of parturition
(2) Within 20 to 24 hrs of parturition
(3) Within 30 to 34 hrs of parturition
(4) None of the above

In cow milk, protein, fat and S.N.F. decline

with -
(1) Season (2) Breeding
(3) Age (4) Management

What is normal duration of estrus cycle in
sheep?

(1) 16 -19 days (2) 19 -21 days

(3) 13 - 16 days (4) 21 - 24 days
Disbudding in the calf is done at the age of -

(1) 3 - 10 days after birth

(2) 60 - 70 days after birth

(3) 90 - 95 days after birth

(4) None of theabove  » ,

Most economic and satisfactory method for

preserving forage crop is -

123.

124.

125.

126.

127.

128.

129.

e A fhasil el o1 HrT 87

(1) 2 (2 4
3) 3 @) SREg ¥ 9 g
&

20 9 UYETOFT (2019) & SFTER TorRIE #
BT D e & —

(1) 20.84 fifera= (2) 30.20 ffer

(3) 35.46 faferas (4) 40.44 fferF
TR § EREar R (@) R e
Wl § —

() 799 B 49 86 & R

(2) TG & 20 ¥ 24 ¥< B WER

(3) 799 % 309 34T B W

4 SWigT § | DIg T8

T & g ¥, 59 SR 9N, 997 9 U9,
T.9%. HC o 87

(1) A= (2) go+

(3) Iy 4) way

4T ¥ 9EFY 9T T 4 94T 27

(1) 16-197F (2 19-21fz9
(3) 13-16f39 (4 21-24f+

Toe A v eE (Tl e s §
ST 87

(1) & & 3-103 @1

(2 = & 60-70f37 91

(3) W & 90 - 95 7 318

@) ST § ¥ BIg T
HANSFS TP & —

(1) Makingbundles (2) Making straw (1) Tl TR (2) a1 TR
(3) Making heap (4) Making hay (3) X TN (4) & §IpY
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130.

131.

132.

133.

134.

135.

136.

137.

On an average, a bull ejaculates -
(1) 8 misemen (2) 2 mlsemen

(3) 3 ml semen (9 4ml semen

The phenomenon of variability among fungi
was first discovered by -

(1) Erickson (2) Ward

(3) Stakman (4) Vander Plank

Which one of the following rusts is
autoecious in nature?

(1) Melampsora lini

(2) Puccinia graminis

() Puccinia coronata

(4) Phakopsora meibomiae

Which one is not an obligate parasitic
fungus?

(1) Albugo
(3) Alternaria
Tentoxin is produced by which fungus, which
causes spots and chlorosis in plants?

(1) Alternaria alternata

(2) Erysiphe
(4) Peronospora

(2) Alternaria brassicae
(3) Alternaria brassicicola
(4 Alternaria solani

The shape of cauliflower mosaic virus is -
(1) Spheroidal (2) Rod
(3} Geminate (4) Filamentous

Downy mildew of Bajra in caused by -

(1) Sclerospora graminicola
(2} Peronospora parasitica
(3} Sclerophthora rayssiae
(8) Sclerospora sacchari

In each virus, there is always -
(1} only RNA

(2) only DNA

(3} only RNA or only DNA

(4) Both RNA and DNA

130.

131.

132

133.

134.

135.

NG U Gie wEford BT & —

() gfah. 9 ) 2fae 4

(3) 3 fae. 9 @ 4ty 9
BHEl B IREITRIET & 0ol B @i [
BRI P 187

(1) IRF ) 718

(3) WA (@) =X w5
FrferRaa § & S USSRl Tge &7

(1) ST s

@ g ufife

(3) iR dRATT

(4) BIHERT HgaIRE

PINAT TP AP IRoid] HaP ol 87

(1) T (2) RwIEH!
(3) sreeERar @ RARERT
i %9 $ad gRT 99—~ BT &, S Uiy
# yed AR TARIRNT BT PROT GT 87
(1) sr==RAT 3eexmel

(2) ec=Rar SR

3) sreeARar SRR

(4) SeewRT |Erl

Gl Aol fauIT 7 SR & —
(1) TeeR (2) Begar

(3) SiffFe (4) TYATHR

136. o7 o GgUHd TRET AT 9 @ SR

137

BT 27

(1) ek Ao
(2) WEraRT SRies
(3) FRITINT IRRT

(4) SRR ¥y

U o] ¥ Bhen ST ® —

(1) 90 IRTAT.

(2) Baat SITAT.

(3) BIE ARG, I I ST,
(4) IRTT 3R ST S
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138.

139.

140.

141,

142.

143.

144,

Which one is the

mycoparasitic fungi?

most common

(1) Paecilomyces lilacinus

(2) Trichoderma harzianum

(3) Coniothyrium minitans

(4) Aspergillus niger

Powdery mildew of tomato is caused by -

(1) Erysiphe cichoracearum
(2) Erysiphe polygoni

() Erysiphe betae

(4) Erysiphe orontii

Which one of the following pair is not

correctly matched?

(1) Rock bee - Apis dorsata

(2) Little bee - Apis florea

(3) Indian bee - Apis indica

(4) Italian bee — Melipona iridipennis

Which one of the following pair is correctly

matched?

(1} Azodrin-monocrotophos

{2) Baygon-fenthion

(3) Dursban-phosphamidon

(4) DDVP-Malathion

Rasping and sucking type mouth parts are

found in which insect?

(1) Aphid

(3) Whitefly

The Book ‘Silent Spring’ to create awareness

about ill effect of pesticides was written by-

(1) Ngozi Okonjo (2) L.Maxwell
Iweala

(3) Rachel Carson

(2) Leafhopper
(4) Thrips

(4) Clark.& Geier
Growing mustard with cabbage as a trap
crop is used to attract which insect?

(1) Diamond Back moth

(2) Cabbage butterfly

() Leaf Webber

(4) Cabbage semilooper

138.

138.

140.

1471.

142.

143.

144,

HIFE] G99 ATIE HISHIURINCH Dad § o
27

(4) TERRN TSR

THIEY PT fofer SiaT I {59 & HROT B
87

(1) R ReRRERE

(2) SHEEH felTET

(3) e 4

(4) RAEH! AR

1 g | 9 S Sirer 98 @l 87

(1) W\ AT — Ufig SRweT

(2) 7T g — U FeRar

(3) W FgAaEl — U SR

(4) sefora mypmdl — Aferam SRR
e A BT R g 87

(1) Teilfg—AHEpIEGE

(2) SRR

(3) SHgT-—BHiepIfAEM

@) SEEdi—deRiT

TREH g T g ga@i B 9 e 9
# g S €7

(1) =g @) &= e

(3) gwg Tt (4) Tof <y
BICTRDI B GO B Ui SFTHHA B g
igele R T o feae fordi?

(1) st siprar (2) Tt AT
gael
(3) Yael B @) T TS T
T & AR WAl UUY 5O § o 4§ fahg
BT B AT Bl 87
(1) €)® 7= TG
(2) i & Riaen
(3) P IR

{4) 931 IR BT AR

[01] - M
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145, Raking the soil. on the side of trees would  145- a1\ - 919 & U5 @ URI @_® @ WL &
destroy large number of over wintering TeeTs 54 $ic B 2T JFaRT P T TR
pupae of which insect in mango orchard? P foIT & oy 27
(1) Capsule borer (1) dogel 9
; (2) Bark eating caterpillar (@) oo @™ Al G
& (3) Fruit fly 3) Bl gd)

(4) Termite @ S

146. Who gave Phases Theory of Locust? 146. fogt o) BT AR T &) 87
M UVI{II‘OV (2) Prasad (1) SR9 (2) yarg

) (3) Karl Von Frisch  {4) Rev. Fr. Newton (3) et 9 g 4 9 . e

147. The s;;ec'ies of Eri silkworm is - 147. {99 9 9 SIRT O eW Pie o yely 27

, (1) Bombyx mori (1) gifgas Ty
(2) Philosamia ricini (2) ety RREF
3) A;theraea paphia (3) SR b
(4) Antheraea ricini (@) vaRar RRFR

148. Pest population level‘at which management ~ 148. &ie} 9t 98 wee 59 W Pie yaus &1 vk
action should be taken - foran o 8, B A 9 BIRD &Y
(1) I}nsect equivalent (2 ETL (1) s=ee TiEdele (2) S.8iua
@) EIL (4) Gainthreshold 3) $amgua. @ 9 odviee

143. First plant parasite nematode discovered  149: Uil § S Facie wolldl S Tet e
was - YR _

(1) Meloidogyne (2) Heterodera (1) YisSrmE 2 gy
3) Anguina {4 Globodera (3) Tz (@) e

150. ‘Grapevine fan leaf disease caused by virusis ~ 150- arge @i “I9 9189 & g’ i foas
transmitted by - BRI Bells odr 87
(1} Xiphinema (2) Trichodorus (1) R (2) TEPRNY
() Paratrichodorus (4) Ralstonia (3) I cEoeRE (8) YeRARET
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